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Consider the following problem: Find two numbers whose sum is 23 and whose product is a maximum.

(a) Complete the table of values so that the sum of the numbers in the first two columns is always 23.

First number

Second number

Product

1
2

2
]

10

11

22
21

20

22
42
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3.7 Optimization Problem.
We maximize the product of two numbers whose sum is 23

First# |Second #| Product
23 0 0
22 1 22
21 2 42
20 3 60
19 4 76
18 5 90
17 ] 102
16 7 112
15 8 120
14 9 126
13 10 130
12 11 132
11 12 132
10 13 130

9 14 126
2 15 120
7 16 112
3] 17 102
5 18 90
4 19 76
3 20 60
2 21 42
1 22 22
0 23 i]
-1 24 -24
-2 25 -50
-3 26 -78
-4 27 -108
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First # Second # Product
23 =23-A7 =AT*B7
=A7-1 =23-A8 =AB*BA
=AB-1 =23-A9 =A9*B9
=A9-1 =23-A10 =A10*B10
=A10-1 =23-All1 =A11*B11
' =A11-1 =23-A12 =A12*B12
=A12-1 =23-A13 =A13*B13
=A13-1 =23-Al14 =A14*B14
=A14-1 =23-A15 =A15%B15
=A15-1 =23-Al16 =Al16*B16
=Al6-1 =23-A17 =A17*B17
=A17-1 =23-Al18 =A18*B18
=A18-1 =23-A19 =A19*B19
=A19-1 =23-A20 =A20*B20
=A20-1 =23-A21 =A21*B21
=p21-1 =23-A22 =A22*B22
=p22-1 =23-A23 =A23*B23
=A23-1 =23-A24 =A24*B24
=A24-1 =23-A25 =A25%B25
=A25-1 =23-A36 =A26%B26
=A26-1 =23-A27 =A27*B27
=A27-1 =23-A28 =A28*B28
=A28-1 =23-A29 =A29*B29
=A29-1 =23-A30 =A30*B30
=A30-1 =23-A31 =A31*B31
=A31-1 =23-A32 =A32*B32
=A32-1 =23-A33 =A33%B33




240325-notes.notebook March 25, 2024

On the basis of the evidence in the table, estimate the answer to the problem. (Enter your answers as a comma-
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(b) Use calculus to solve the problem. (Enter your answers as a comma-separated list.)
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Infinite Limits and Limits at Infinity.
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Limits at infinity:
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I have college algebra resources and a writing project that covers a lot of the
theory, here. Let me know if you want to see that stuff.

Here's a link: Click Here


https://harryzaims.com/public_html/121-online/videos/03-Writing-Projects/Writing-Project-3/
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Newton's Method, Section 3.8
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We won't have you do many steps. I'm thinking of an Excel implementation as

extra credit.
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